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. . Sheet 1
. (Equatlon of a Medlan) =
1) 1fP(-3,2),Q(-3,-2) and R(1, -2) are the vertices of APQR, find the equation of the
median QS.
2) B(0,-1)and C(2, 3) are the vertices of AABC. Determine the equation of the median AD,
if its slope is —2.
3) S(2,5),T(-10,0) and U(4, -1) are the vertices of ASTU. Find the equation of the median
SV.
4) D(-5, 3) and E(-3, -3) are the vertices of ACDE. If the slope of CFi |s =, determine the
equation of the median CF.
5) IfK(9, 8), L(-15,-14) and M(6, -7) are the vertices of AKLM, determine the equation of
the median MN.
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